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��-. 3 – �#$!7 <-(9 '& 1! (�#1<> �!(# (* (#) (# +!�3<#(* (8) "<� (�-'*

��- &"'�:  

,�	����	  ��� ��	����	�� (L, x), �� �������������� ��� 	� ��� 	������ ������  �������� ��#����

���������, �������� �������	����� ��	������
�6 �����	����������� ����� �� ��	�����8 5 %, ��

�������� �	� ���������� �	�������� ��	����� �������� �� �	������������ ������. 

��������� �������� �� �	����  �������� �2=f(Yp)  ����	�#�8 ���  ����������� ����� ������� 	������

������, �� ���� �	������ �� ��#�	����� ������ (�����  	������� ���
���	�
�6 ��	����� (�2) 	� �����, ��

����������. 


<(!�#(*�#
1. "���	���� ".%., K���� -.%. ����������� �������� ������ 	� �����  ��	�����  �������// 9��	�� �� 

��������� ,OO �����	����6 �������-�	�������6 ���&�	��
�6 ���������, ����	����� �� ������� ������

„)����#��. <�����. "����������” (13–18 �	���� 2009 	., �. ��6�, 
�	�6��).”. - �.: 2009. - ". 88-89. 

2. �!���	���� K.+. 0	�
���! � ����	��! ���������� �������#��: 
������ ��� �� ��: M. 1-2.-3.: 

,����, 1992.-612 �

3. �!���	���� K.+. .�	���!� ����� � ����	�&����	�
��. - 3.: ,����, 1978. - 352 �.  


�� 66.081.63 

�	�
��������
��� ���������� ��
��������
��
�	�������� � 
����	�������  

��� 	����������; �
�������� �����F � ���	�  

� �
����� ���������� ������

���&�! '& �.�., �*$<= '& �.�., F�< # �.�., �&�&�6' �.�. 

�#1<& #$9 �0 (!) <5 �0 * <"!�-�(!( �'�#> � «	�>"-9'�0 +&$<(!) <5 �0 < -(�(*(», 3. 	�>"

������������ 
���
������ 
����� ���	��� ���������� ��
���, ��������
 ���������


������������
 
 ������������
 �
� ���	�����	
& ������
� NaCl (0,2710
-3

...6,5 �/�) � �
������
 �������

����
� (0,2…0,65 8��), �� ��������� ����������� ���
� ���

���, �������, ���	�����	
& ���

��� ��

����� ������& �������
 
�
�����. 3������
 ��������, �� �����))�� �������� ������������� ���'
����

�����������. 

The mathematical model of reverse osmosis process is represented. The main dependences selectivity and 

permeability from concentration of NaCl water solutions (0,2·10
-3

..6,5 g/l) in range of working pressure of  

0,2…6,5 MPa are defined. This allowed calculating an outturn of retante and permeate, concentration of retante 

and permeate and working surface area of membrane. It was drawn conclusions, which explains character of 

represented curves.  

	$65&"< -$&"#:  ��	����� �����, ��	����, 	�����, �������������, �	�����������.  
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.���8�  ������������� �	�����  ������ �������� ���� �  �����8����  ��� ������� ����������� �

�	�	��� ������ �����. -�� ������ ��	��� �������� �������� ���	��  ��	������� ��� ���������� �

	���� �� �������. *��� �����8 �	������ ������ �������, ����������� �� �&�������� ������� �������

���� ��� ��������� � ���� ������ 	�������, � �������� ��� ��	�� 6� ����	�������� � ������ ��

#������	����.  

"�	�� ��#����� ������� �������� ���� �� 	� ��� 	� �����  ��	����� ����� 8 �������� �&��������

�������. *��� �� ��&��	� ����� �� ���	���� �������� � ��&����	�	����� ��	����
�� �*

 «�0O» ����

����	��� ����	���	��� �����, �� ����� �	��������� ����������� �&���������� 	�����   ��	����

���������� ����	��. "���� ��������� �� �	��
�� 66 ��6 �������� �	���������� � 	������ [3–5]. 

�� ����� �������
� �	��������� ������ ��	�� ��������, � ����  ���������� ���
���	�
�6 �������#�

	� ���� (�1�) � ����� ��� 2·10
-3

..6,5 # 	� ������6 ���� NaCl �� ���	 ������������6 ���� � ����� (') � �����

0,15..0,7 30�. %���	������� �������� ��	����	�: ���
���	�
�6 �������#� 	� ���� (�1�), 	������ (�1�) ��

��	����� (�2), ���	��� �������#� 	� ���� (L0), 	������ (L	��) �� �	������ (L��	), 	�����#� ����� ('). 

.�	����� �����	���������� �����  ��������� � 0�, ��  � ������#�� ���
������ 	� 	������6 �	�#	���

	� 	����������� ������� ��	����	�  ��	���� ���������6 ��������� (�������������, �	����������� �� ��.) 

�� ���������� #	�&����  ��������� ��� ��	����	��� �� ��������� ������.  

% ������ ��#�	���� �	�#	��� ��	���� �������� ��	����	�� ��������� �������� �����������

������.  

C��� �	�
��  ��	����#� ������ �	��������� �	� ���������� ����� � ��������� �����	���	� �

�����8���� ��� ������ ��&� �� � ����
�, �� ����	����� �	�
�� ���� ���� �	����������� ���������

�������� 	������[1,2]: 

L0 = L + W, (1) 

L0 1 x1� = L 1 �1 + W 1 , (2) 

(W )/dW = x2, (3) 

dW/dF = G,    (4) 

x2 = g(x1, L), (5) 

G = f (x1, L). (6) 

�� �1�, x1�, x2 — ������ ���� 	� ������6 	������� � ����������� 	� ����� L0, L �� ��	����� W; 

2

.  — ��	���� ������ ���� 	� ������6 	������� � ��	�����;  

L — ���	��� 	� ����, ���� �	������� ��	� ��������� ����	����� ��	�	� ���	���;  

W — ���	��� ��	����� �� ����� ��	���#� ������ ��� ����� �� ��	�	� �, ���� 	� #����8����;  

G — �	��������� ����	��� � ��	�	� �, �� 	� #����8����; F — 	����� ����	��� ����	���. 

7	������ �����: 

x2 = g (x1) = a ⋅ x1 , (7) 

G = f (x1) = G0 – c ⋅ x1, (8) 

P = 1 – � (9) 

P B 1 �	� � = 0 (10) 

�� G0 — �	����������� �� ������������� ����;  

P — �������������; �,  

� — �����	���������� ���&�
�8���. 

0	���������� ������� 	������ (1–6)  ����	�������� #	������� ���� (7–10) ���� ���� 	� �’� ���  �

����� �����	����������#� �� ������� ���&�
�8���� � �� �. �� ����8��� 	� 	��������� ��	����	��

�	�
���  ��	����#� ������ ��������: ����� ���
���	��� (	������)   ; ����� &����	��� (��	�����)  ; 

���
���	�
�� ��	����� ; 	����� ����	��� ����	����#� ���	��� F: 

1

1

1

0 1

;(11)

a

�

xL

L x

−� �
� �=
� �
� �   

1

1

1

0 1

1 ;(12)

a

n

xW

L x

−� �
� �= −
� �
� �

  

1

1
2 1

1

1
;(13)
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( )
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1
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1
1 0 11

1

a

k
�

a
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n
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dx

x G cxx
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F

a

−

−

−

�
−

⋅
= ⋅

−
 (14) 

�� ������ �	�������� �����	������� �� 	� 	������� �	�#	��� ���� ��	����� �������� #	�&����

 ���������, ����� ���� �� ����8 �� ������ ��������� ���&�
�8���.  

0	���������� �� 	��.1 �����	����������  ��������� �2=f(x1) �� ����8 �� ������ ���&�
�8�� �, ��

������� � ����	���� 	������� (8) � ���������� �� ���� ���� � ������� �����	������� � = 0,04. 

��-. 1 – �#$!7 <-(9 '& 1! (�#1<> +!�3<#(* )2 "<� -!�!� 9&> '& 1! (�#1<> �&25� * )1. 

�� ������ 	������� (10) �������������, �� ������	�#�����, ���� 0,96.  

/� �������  ������� ���&�
�8���� ������ ���� ����	������ ��� 	� 	������ ������ 	������ �

��	�����, ���
���	�
�6 ��	����� �� 	�����6 ����	��� ����	��� (	������� 12–15). 

0	����������� #	�&����  ��������� (	�� 2) �� �������  	����� �������� �	� �����   �#�����6

��������� ��	�����#� ��	����� �� �	����������� �� ��������� (G0) �  ��������� ��� 	�����#� ����� (�	�

�1�=0). 9 ����� �	�#�� ������ 	���	�� 	�����  ��	���� ���������#� ������ �	� �������  ��������

��	�����#� ��	����� (>180�) �� ������ �	����  ���������� G0=f(YP) ���� ���������� #	�&���

G0=f(YV��	) (	��.3), ����� ���� �� ����8  	����� �������� �	� ���������� ����	������� ����	�� �

 ��������� ��� ��������� ��	�����#� ��	�����. C� ����� (	��.3) �	� ��	������ V��	>270 � �	� ����

	������ ������ (' = 0,25...0,6) �	����������� (G0) ������8 0,001, ������8 30 % ��� ���������#�  �������

�	� ����� 0,6 30�.  

�	�� ��#� �� ������ #	�&���� (	��.2–4) �� �����	����������� ����� [5] 	� 	������� ��������� �, ��

������� � ����	���� 	������� (7), ��� ������8 ����	����#� ��#���� � #	������� ������ (9).  

M������ ��	���8  ������� ��������� �, 	� 	�������6 �� �� � ���� � ������� #	�&����, �� ��	�����

�	� ���������� ���
���	�
�6 �1�=4190 �#/� � YV��	 = 80 � ������ 0,26·10
-3 

�
2
/(�

2
�1�#). %��������� ���

��	�����#�  ������� ��� ����� �������� �� ��	������� 10 %. /�� ���&�
�8�� ����	������8���� ���

	� 	������ 	�����6 ����	��� ����	����#� ������,  � &�	����� (14), ��� �	���&�	��8���� �	� � B 0 ��

��	� �: 

( )
( ) 	
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1 — G0 = 4,4*10
-3

 P + 0,3*10
-3

 ; 2 — G0 = 3,1*10
-3

 P + 0,6*10
-3

 ; 3 — G0 = 2,4*10
-3

 P + 0,6*10
-3

��-.2 – �#$!7 <-(9 +�& !' ! &-(< +& ��-(�$%(* "<� (�-'*

��-. 3 – �#$!7 <-(9 +�& �' ! &-(< +& ��-(�$%(* "<� '<$9'&-(< &(��3# &4& +!�3<#(*

-���� �	���� (	��.4) �� ����8  	����� �������� �	� ���������� ��	����	 ���� �	����, �����

���
���	�
�� 	������ (�1�)  	����8 ��� ���� 	� �����  	� ��� ���������� ���
���	�
��� �	�  ���������

	�����#� �����. /�  	������� �������� �	������ ����� � 	����� [5]. 

0	� ����� � �	���� (	��.5) ����� ��������� �����  �������	�����  ���� ��	����	� �	���� �	� 	� ���

������. -�� ���������� (�	� ��������� ��������) �	���� ����8��  	����8 �	�  ��������� ������6

���
���	�
�6 	� ���� � ����� �	�����8���� �	� ����� �1� . �	�� ��#� �����  	����� �������� �	�

����
��������  ����������� �����	��� ������ � ����������  ��	����#� ������, �������� �	� �������

 �������� ���������� � �������� 	� �����. ,�	����	 �	���� �������� �	������ ����� � 	����� [5].  

��-. 4 – �#$!7 <-(9 '& 1! (�#1<> �&25� * )1 "<� (�-'*
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��-. 5 – �#$!7 <-(9 '& 1! (�#1<> +!�3<#(* )2 "<� (�-'*
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�� 504.55:628.398 

���
������� 
������ ��

�������  

� ������� ������	������ ��������

��)#$95*' �. �. 3#4�-(�# (, �(!+# 6' �. �. '.(. ., �&1! (
�#1<& #$9 �0 (!) <5 �0 * <"!�-�(!( �'�#> � «	�>"-9'�0 +&$<(!) <5 �0 < -(�(*(», 3. 	�>"

$ ���
� �����
 ������������ ���������� ����
������ ���	��� �������

�� � ������


���
��������� �
����
�.  

In this work are represented the results of heat transfer process in radioactive waste repository. 

	$65&"< -$&"#: ����������, ������	���������,  ���	������ 	������������ ��������. 

.����  ��#������� ��������� � �&�	� ����	������� ���	��6 ���	#����� 8 �����������

	������������ ��������. %���	�
������ ������ ��������� ��  ��	�#���� � ���
������ ����������

��������  ����� 6� ��������#�  ���	������ � ���	��. ��� 
��#� 	������� ���	���� ���
� ���������#�

�������, ��#� ��� �� �	������� �
���� �� ����. .����  � ������� �
���� �� ���� 8 	� 	���� �������

������	��� ��	’8	�� � ��� ������� ����������� 	� ��������� �����	���	��#� ���� ��������� ���������

������� 	������������� ��������� [1].   


